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Fifth Semester B.E. Degree Examination, Dec.2013 / Jan. 2014
Database Management Systems

Time: 3 hrs. Max. Marks: 100
T!jte: Answer any FIVE full questions, selecting atleast TWQ questions from e&g part.
Q $y°
@) PART - A Q
1 %t are the responsibilities of DBA and Database designers? AN, * (04 Marks)

b. Wlthagam explain the components modules of DBMS and their, 1ﬁwactlons (08 Marks)
c. List the advantages and disadvantages of DBMS. Discuss any five aldsk vantages by comparing
with file systems. (08 Marks)

2 a. Define the following terms : 1) Recursive relationship i) Weak entity type  iil) Atomic

attributes  iv) Participation role. (04 Marks)

b. Discuss the conventweg.for displaying an ER schemas as an ER diagram. (04 Marks)

¢. Draw an ER diagram Musicians who perfo@‘or album. Assume any four entities.

Indicate all key and cardi constramts and any sumptions that are made. (12 Marks)

3 a. List and explain charactenstlcs tio %" (06 Marks)
b. List set theory operations used in latlonaﬁ:lata model. Explain any two with example.

(06 Marks)
c. Consider the following relations for a sailors database that keeps track of reservation of
boats by sailors.
SAILORS (SID, SNAME |, RATING, AGE)
BOATS (BID, BNAME , OR) “
RESERVES (SID, Bl

) &
ries in relational algebra. @
i} Find the sids ors with age over 20 who have nov(esjrved a ‘Red’ boat.
i) Find the naghes of sailors who have reserved all boats. qi}

iii) Find the names of sailors who have reserved boat 103. (08 Marks)

4 a. Describe the six clauses in the syntax of an SQIL. Retrieval Query. Show what type of
constructs can be specified in each of the six clauses. Which of the six clauses are required

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 428 = 50, will be treated as malpractice.

and which are optional. (06 Marks)
bQBxplam how the group by clause works. What is the difference between ¢he Where and
Having clause? kgd Marks)
C&:. Consider the following relations for a database. 4 O
\:“\* Supplier (Sno, Sname, Status, City) é‘b
e, Product (Pno, Pname, Color, Weight, City) ' ”QA

Shipments (Sno, Pno, Qty)

Specify the following queries in SQL.

i) Retrieve names of supplier who supply part P3.

ii) Retrieve the names of suppliers who do not supply any part supplied by Sa.

iii} Retrieve parts number for all parts supplied by more than one supplier.

iv) For each part supplied, get the part number, maximum quantity, minimum quantity

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

supplied for that part. . o
v) Retrieve supplier numbers for suppliers with status less than the current maximum in the
supplier table. (10 Marks)
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PART -B
List the differences between Independent nested and co — related nested querv. (04 Marks)
Discuss main approaches to database programming. What you mean by [mpedance
mismatch. (08 Marks)
With program segment, explain retrieving of tuples with embedded SQL. (08 Marks)

Discuss insertion, deletion and modification anomalies. Why are they consjderéd bad?

{Jllustrate with examples. '\;R (08 Marks)
b. you mean by closure of attribute? Write an algorithm to find closure)qi‘ aftribute.
(06 Marks)
C. Giv%}_gw are two sets of FDs for a relation R(A, B, C, D, E). Arel{ebequivalent?
iy ADB,AB>C.D—AC.D—>E i) A-BC,D—s AE, (06 Marks)
a. Consider the following Universal relation
R=1{A,B,C,DE,F, G, H, 1. J} and the set of function dependencies.
F={{A B} —-C,A—{D,E} , B—F,F—{G H},D— {l,]J} }. What is the key of
R? Decompose R into then 3NF relations. ~ (08 Marks)
b. What is the dependency rvation property for @composition? Why is it important?
& %h - (06 Marks)
¢. Define fourth normal form. e&it Vi()@ y is it useful? (06 Marks)
a. What are the anamalies occur due t({:r?terleave execution? Explain them with example.
(08 Marks)
b. Consider the three transactions Ty, T, and T; and schedules S; and S, given below.
Determine whether each schedule is serializable or not. If a schedule is serializable. Write
down the equivalent serial schedule (8). ‘ (08 Marks)
Ti : R(X) ; Ri(Z) ; Wi
Ty : Ro(Z) s Ry(Y) 5 ‘NQ&%W:(Y) ; @
T3 : Ry(X) 5 Ry(Y)sN(Y) 5
Si:Ri(X) ;R 1{Z) ; R3(X) ; Ry(Y) ; Wi(X) ; Wy( s Wa(Z) 5 Wa(Y) ;
32 : Ri(X) ; RYZ) ; Ra(X) s Ri(Z) s Ro(Y) s Ry(Y) s Wi(X) ; Wi(Y) ; Wo(Y) ;
¢. Describe the three steps in crash Recovery in Aries. What is the goal of the each phase?
(04 Marks)
G
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